COURSE STUDY GUIDE SHEET

LECTURE 15

(Expositor’s p. 35- 40)

1. Paul continues with the subject of the Jews’ guilt, but in 3:1-8 the emphasis changes. What does it emphasis?

2. What essential advantage did the Jews have over the Gentiles in 3:1-4? What is the meaning of “oracles”?  Define “entrusted”.  

3. How do the logion involve both halakhah and hagada? What are these?

4. Identify the negative side of God’s faithfulness and the positive side of this as well.

5. What is the basic idea of the verb proechometha? 

6. How does Paul back  up his denial of Jewish superiority by reminding his readers of what charge?

7. What does it mean to “be under sin”?

8. What does Paul bring into his argument in 3:10-18? What has Paul calculated that made him save this for last?

9. How does the present catena serve a double purpose? List the two purposes and each ones respective emphasis for Paul’s argument.

10. With what statement does the chain of scripture close to show the root of difficulty?

11. What is the stubborn fact of the law in v 19?

12. Explain “so that every mouth may be silenced”.

13. How can Jewish failure in terms of what scripture requires lead to the involvement of the rest of the human race? List the two possibilities.

14. The expression “by works of the law” is found where in Romans for the first time? 

15. What is the practical result of working seriously with the law?

